	Games and Behavior - The Problems



 Eliminating Action (#12) 




Top of Form

	The Problem
	 
	 

	Do you think that eliminating one of his actions in a two-person strategic game can help a player? 


	 
	 
	 


Bottom of Form

	Statistics
	 
	 
	 
	 
	 

	# of answers: 
	 
	16
	All: 
	1508
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	Answer  
	%
	 
	all%
	

	[1]
	56%
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	78%
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	[2]
	44%
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	22%
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	Games and Behavior - The Problems


 A Contribution Game (#79) 




Top of Form

	 
	 
	 

	The Problem
	 
	 

	You are participating in a game with four other players. In the game, each player gets 10 tokens. You have to decide how to allocate the 10 tokens between 2 different funds: 

(1) Your personal fund: for each token you invest in your personal fund, you (and only you) will receive $4. 
(2) The group fund: for each token any player invests in the group fund, each of the 5 players receives $2 (regardless of how much they themselves invested in this fund). 

Your decision is how to divide the 10 tokens between the 2 funds. You may mix up the investment of your 10 tokens in any way you wish. 

I allocate the following amount of tokens to the group fund: 


Bottom of Form

	Statistics
	 
	 
	 
	All Courses
	 

	 
	# of answers: 
	 
	16
	4391
	 

	 
	Average: 
	 
	3.31
	3.44
	 

	 
	 
	 
	 
	 
	  
	


	Answer  
	%
	 
	all%
	

	0
	56%
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	38%
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	1
	0%
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	8%
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	2
	0%
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	7%
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	3
	0%
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	4%
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	4
	12%
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	6%
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	5
	6%
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	12%
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	6
	0%
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	4%
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	7
	0%
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	2%
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	8
	0%
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	3%
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	9
	0%
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	1%
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	10
	25%
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	16%
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	This is a standard public good experiment, adapted from Ockenfels and Weimann (1999). Investing 10 tokens into the private fund is the dominant strategy for each player, resulting in a Pareto-dominated outcome. However, experiments have shown that subjects will always make some contribution to the group fund. 
	
	
	
	


	Games and Behavior - The Problems


 Traveler’s Dilemma (Basu Game) (#53) 




Top of Form

	 
	 
	 

	The Problem
	 
	 

	Imagine you are one of the players in the following two-player game:

- Each of the players has to choose an amount between $180 and $300. 
- Both players are paid the lower of the two chosen amounts. 
- Five dollars are transferred from the player who chose the larger amount to the player who chose the smaller one. 
- In the case that both players choose the same amount, they both receive that amount and no transfer is made 

What is your choice?
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Bottom of Form

	Statistics
	 
	 
	 
	All Courses
	 

	 
	# of answers: 
	 
	16
	9547
	 

	 
	Average: 
	 
	264.19
	266.85
	 

	 
	 
	 
	 
	 
	  
	


	Answer  
	%
	 
	all%
	

	180
	19%
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	18%
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	181-294
	25%
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	17%
	[image: image38.png]




	295
	0%
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	5%
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	296-298
	0%
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	3%
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	299
	19%
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	9%
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	300
	38%
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	49%
	[image: image46.png]





This problem is based on Basu (1994). According to results reported in Goeree and Holt (2002) most people choose the highest number possible, i.e. 300. However, if the transfer is changed from 5 to, let us say, 180, most subjects choose the unique equilibrium action 180.

	Games and Behavior - The Problems


 Trust Game (#133) 




Top of Form

	 
	 
	 

	The Problem
	 
	 

	Player A is given $10 and must decide how much to transfer to Player B ($x) and how much to keep ($10-x). The two players don't know one another and will not meet.

After Player A has made his decision, Player B is informed of x. The amount x is then tripled, and Player B must decide how much (out of 3x) to keep and how much to give to Player A. The amount Player B gives will be added to what Player A kept to himself from the original $10. 

If you were Player A, how much of the $10 would you give to Player B? 
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Bottom of Form

	Statistics
	 
	 
	 
	All Courses
	 

	 
	# of answers: 
	 
	16
	2143
	 

	 
	Average: 
	 
	2.94
	3.92
	 

	 
	 
	 
	 
	 
	  
	


	Answer  
	%
	 
	all%
	

	0
	38%
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	23%
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	1
	19%
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	12%
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	2
	6%
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	9%
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	3
	6%
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	10%
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	4
	6%
	[image: image58.png]



	4%
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	5
	6%
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	16%
	[image: image61.png]




	6
	0%
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	3%
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	7
	0%
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	2%
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	8
	0%
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	3%
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	9
	0%
	[image: image68.png]



	1%
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	10
	19%
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	17%
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This game was suggested by Joyce, Dickhaut and McCabe (1995) (see) as a way of evaluating trust and reciprocity effects. If players care only about the amount of money they themselves receive, then in the subgame perfect equilibrium player A chooses not to tranfer money to player B. However, a variety of papers have shown very different results. The amount of money chosen by player A is an interesting measure of the level of mutual trust in a society.

	Games and Behavior - The Problems


 Count the F's (#36) 




Top of Form

	 
	 
	 

	The Problem
	 
	 

	Read the following sentence : 

FINISHED FILES ARE THE RE- 
SULT OF YEARS OF SCIENTIF- 
IC STUDY COMBINED WITH 
THE EXPERIENCE OF YEARS. 
Now count aloud the number of F's found in that sentence. 

Count them ONLY ONCE. Do not go back and count them again. Don't cheat! 
Now, complete the following statement: 


	Number of F's in the sentence is:
	[image: image74.wmf]


	 

	 
	 
	 


Bottom of Form

	Statistics
	 
	 
	 
	All Courses
	 

	 
	# of answers: 
	 
	16
	2951
	 

	 
	Average: 
	 
	5.06
	4.43
	 

	 
	 
	 
	 
	 
	  
	


	Answer  
	%
	 
	all%
	

	1
	0%
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	0%
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	2
	0%
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	1%
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	3
	25%
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	40%
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	4
	0%
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	11%
	[image: image82.png]




	5
	19%
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	12%
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	6
	56%
	[image: image85.png]



	35%
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	7-10
	0%
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	1%
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